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Revisions are shown in red.

Solution 47, p. 82:

p; = 16.4 psi
Apl2=17.1=8.6 psi Ap =1211b/3 in%/4m =171 psi
Py =py+Ap=164+17.1=335psi

¢ = sin1(8.6/15) = 35°

P3 Py

|=—25.0-10 psi=15.0psi

(pq + pa)f2=(16.4 + 33.5)/2 = 25.0 psi

Solution 66, p. 88:

K - cos?(¢ - 0) :
cos? 0 cos 6+ 8){1 + \/ sin(¢ +9)sin(¢ —P)
cos(0 + d)cos(0 —B)
=0.371
Also refer to earth pressure charts.
a 5 a
(120 Ib/ft)(8 ft)?

: (0.371)

=1,4251b/ft
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Solution 72, p. 90:

Reference: NCEES PE Civil Reference Handbook.

Solution 1:
e =3—-1=2 ep=2-15=05
e, /L=2/6=033 ez/B=05/4=0.125
bl
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Alternate solution:
A =2(1.5)x 2(1.0)
= 6.0 ft°
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THE CORRECT ANSWERIS: B



